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WW = Wirtschaftsweg
R = Rampe
WA = Weganbindung
GR = Geh-/Radweg

-GR-

-W
A

 2-

-W
A

 3
-

w
4

-G
R

-

Staatsstraße 2232

Ortsumfahrung Geisenfeld Nord-West
Bau-km 0+000 bis Bau-km 4+186

Hier: Kreisfahrbahn, B 300, ST 2335, Rampe 1+2
Pfaffenhofen a. d. Ilm - Vohburg

31.07.2012

31.07.2012

31.07.2012

T

1 Rampe 2 Okt. 2018 SW

T

Aufgestellt:

gez. Staudter, 1. Bürgermeister

Stadt Geisenfeld
Geisenfeld, 20.09.2012

1. Tektur:

gez. Staudter, 1. Bürgermeister

Stadt Geisenfeld
Geisenfeld, 24.10.2018


